VAANSY VINVAV 111

VYAANSY VINVAV 1N

VAANSY VINVAV 111

N oo oW N - ‘
Ol |0 |®w O I | I B
N E|g | X F|NIN |5
Z | C r- m | {1 - 3
> 6  m| O W O m 5
0O/ 0 ® 2|90 £ 3|
N o | |5 A > | m 3
m @) O > O 1 | 2
< Bl 23 C
> Q3 O H
> 5 s
O
2138
- | C
cC
0.00 2.07 |123.73/125.65 _____—, ISTNIEJACA STUDNIA
20 . g0’ T 0 ZELBET. @1.2m
55 | © | | p |
gg | & "e0" |
O 95 1.94 |124.02|125.81 PROJEKTOWANA STUDNIA
N ZELBET.Q1.2m
275 | ¢ "w32' W RO
©
=)
.
375 3 "g25" W RO
40.0 < "eN' W RO
420 : "s"
44.0 c:% "ks"
485 2.31 [125.19/127.35 PROJEKTOWANA STUDNIA
w) N ZELBET.§1.2m
W P
65.0 "g25"
w "g25' W RO
685 | & g
1}
N
76.0 S ks
3
835 <<| | 252 [125.89/128.26 PROJEKTOWANA STUDNIA
w) — ZELBET.§1.2m
s &
101.0 | ¢ "t "W RO
(4]
[
[
o
160 c_g Lkslng25|| W RO
R — wg———— T
1o <<| | 1.87 [126.42/128.14 m—— PROJEKTOWANA STUDNIA
@) ZELBET.Q1.2m
(4]
N oo o s N A ‘
O U o v ®© I | T ||
N £ o3 | N|N| g
2 | C - m | M - 3
> O | m| O W O m 5
O 0| ®|Z2|Q & |3 |'s
N U)\ I“' O x > m 3
m o 9 ¥ 0 1|2
< B 2 IJ|C
> Q13 (@) H
> 5 s
5 o
28
- | C
C
0.00 2.8 |1255312766)0 - _, ISTNIEJACA STUDNIA
T( ***** = ZELBET.@12m
5.0 5 ] 'e0" W RO .
. m lksn
o 5t 2.17 |125.64/127.66 PROJEKTOWANA STUDNIA
o ZELBET.Q1.2m
w
— n 25l
%9 R ) = wRo I
325 § "ks"
‘5
D
o 420 = || 1.54 |125.96/127.35 PROJEKTOWANA STUDNIA
N( — ZELBET.§1.2m
=X
50.5 *g25' W RO
53.5 "gV" W RO
D
o
4)]
69.5 "w"
73.5 "g25" W RO
775 "' W RO
80.0 'g25"
o 820 1.76 |126.65/128.26 PROJEKTOWANA STUDNIA
o ZELBET.Q1.2m
885 88.0 'ks" *ks" ;
90.5 'w'32a %
94.5 'gs"25 W RO \ \ )
96.5 "sN' W RO 1,
W
a
1
Ny
[
o
cl_g ] n
o s =< || 094 |127.35/128.14 ©| PROJEKTOWANA STUDNIA
© ZELBET.§1.2m
N oo o AW N A ‘
Ol 9|0 |®» @ I IR
N E o I | N|N||3
Z | C r- m | 1 - 3
OO0 ® 2|0 2 3|/
N U)\ I"" O x > |'|'| 3
m 9 @) > O =T 2z
< S pn & T C
> 0% o N
> 5 s
O
138
T | C
C
O | 0.00 130.35|131.99 m———  PROJEKTOWANA STUDNIA
oo | 3.00 N3 | 1.23 [130.15 "' ZELBET.Q1.2m
N
o
o
16.00 "g25"
O | 20.00 1.94 [130.39|132.18 L | PROJEKTOWANA STUDNIA
- ﬁ ZELBET.Q1.2m
26.5 t*
285 .
W
o
o
435 - 'w'32
NS
8 l925ll
85 , == W RO
O
54.0 Q as
O 560 1.25 [130.43|131.51 PROJEKTOWANA STUDNIA
5 ZELBET.Q1.2m
2 U g
S| §E
RN
S TooD g
° 8888 | O
¢8:5 | O | ow | U
22k | Q| B5 O
528 = | @ %
o C @Ié z
N- 2\ 05
J | 8=
spsz | P | 50 |8
22| B |22 |5
o -1
3232 | 5 | =2 |N
D | 2R w»w
ss | |22 |S
TR
g 2 ~ g
2 | Q= g5
= mn |~ g
ig¢ N .
S
@V) =
D,




